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= 20205 of AH(A) 20202 0f[ AH(B) S (A-B) AEZAH = 9
TN 9,519,451,000 7,022,782 ,000 2,496,669,000
He=oZQsHHZRANM 9,483,451,000 6,986,782,000 2,496,669,000
1) MEtp s ol g 7 N 513,434,000 425,004,000 88,430,000
(1)d7=9 206,430,000 120,000,000 86,430,000
7h Y79 50,000,000 20,000,000 30,000,000 & 2 X|Xpx| o742 20,000,000
HE Y X|XAH A7ol(SH) 30,000,000
2~ A 50,000,000
Lb pd A o =2l 156,430,000 100,000,000 56,430,000(7| 4= o2 50,000,000
7|3 9 ek o9l 50,000,000
7|8 x AP (SNH) 56,430,000
2~ A 156,430,000
(mgadsy 5,000,000 5,000,000
A aamE= Lo Patel 5,000,000 5,000,000 FENE U lHAUMAIA S 5,000,000
(3)7| =0lH==2 1,000 1,000
b K| AR AHH O] M =9
Lt c3lfo| M2 1,000 1,000 EEX 1,000
(4)MH|XHAALB B 59 300,000,000 300,000,000
b MHH|XMALE 2 52
Lt el 2492 300,000,000 300,000,000 ?:j;ggg%z;!igg ERES 300,000,000
(5) 7| EFA LR = =9 2,003,000 3,000 2,000,000
7+ 7| EFREEFS B =0 2,003,000 3,000 2,000,000|&rm 7| (| ) 1,000
St 7| (&%) 2,000
MELx|mjd J|&o|™u|(2A) 2,000,000
| 2,003,000
Q)X FFodsF AN 8,547,377,000 6,267,931,000 2,279,446,000
(1) F=9 105,241,000 10,001,000 95,240,000
7h Y RAF 105,240,000 10,000,000 95,240,000 &2 2 X|Xix| o F=2 10,000,000
HEAFFA(SH) 95,240,000
2 A 105,240,000
L A A o =2 1,000 1,000 S =X 1,000
() mg2HT 6,918,211,000 4,761,630,000 2,156,581,000
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= 2020FZ of &H(A) 2020 0f AH(B) ZZH(A-B) AEZA = 9
(LINCH At U ESE SMALY X dF ZHHH|[(BH) 15,250,000
| 363,850,000
ch.7|EX| 2 376,000 1,000 375,000|7| EFX| 242 ZHHH| 1,000
J|EtX|HF52 ZHHH| (B NH) 375,000
| 376,000
36,000,000 36,000,000
36,000,000 36,000,000
36,000,000 -36,000,000| A EFHE 7|2F 36,000,000
HUESMHE 7|2F (= HAH) (36,000,000)
36,000,000 36,000,000| A2 SME XY 7|82 36,000,000
6,320,000 4,320,000 2,000,000
6,320,000 4,320,000 2,000,000
4,120,000 2,120,000 2,000,000]0| Xt£=21 2,100,000
St 7| (M| ) o] Xp4=2 10,000
st 7| (sHE) o] b9 10,000
O RpOl (ZH) 2,000,000
| 4,120,000
2,200,000 2,200,000 oAl o2 x|l Jhata 2,000,000
J|Ef2de 9 - ZQIEQ 200,000
£ A 2,200,000
36,000,000 36,000,000
36,000,000 36,000,000
36,000,000 36,000,000 - |HYESME AUESZE 36,000,000
9,771,912,207 7,176,450, 000 2,595,462,207
6,313,507,589 5,829,334,000 484,173,589
211,433,000 125,003,000 86,430,000
206,431,000 120,001,000 86,430,000
116,893,000 48,000,000 68,893,000|& & od =9 8,000,000
HEATE(FH) 33,138,000
Akt | of 7242l 40,000,000
MAM AT FA(SH) 35,755,000
| 116,893,000
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E‘l %F| = 2020FZ of &H(A) 2020 0f AH(B) ZZH(A-B) AEZA = 9
| 1,523,925,000
3)UTH|AIHH|H T FEN 418,200,000 290,850,000 127,350,000
(1)l x| &lu| 4,000,000 4,000,000
7. 2lH|
LAl s EMIIE 4,000,000 4,000,000 W oIMEI =2 4,000,000
(2)d x| &H| 41,400,000 41,400,000
7b 7| HSEXHFH| 41,400,000 41,400,000 Ad7|E 2gH|(2d 9 esldH|s) 12,000,000
of 22| =2 & 200,000%12¢) 2,400,000
PIE7|& 2| 2HH|(3E §) 7,000,000
s Y Mo|op (&8 25 8,000,000
AstE{ S EE §ol3 o5l S 2,000,000
SIAUAN d UABEFFE(MEEHE) 7,000,000
SIAZZOY ALE ¥ MB{E | 3,000,000
| 41,400,000
(3) M zle8x|aly| 6,000,000 6,000,000
7t etz st et E |
L XA MAEEHES 6,000,000 6,000,000 Wl XAXMA £ S 6,000,000
(4)7| EFx| 1| 366,800,000 239,450,000 127,350,000
7}, 7| EbX| 2l H| 366,800,000 239,450,000 127,350,000| 2 2 ALY MA ZAS 3,000,000
(LINCH) Al St E S SMALY ZHHH| 63,550,000
(HAs) M0 st MALY 2HH| 172,900,000
(SHA3FE) MBS AMAY ZHH| 50,000,000
(a1 gd)dMadss Ay 2He|(S 52,100,000
(LINCH) AL HE S ALY ZHEH|(ZNH) 25,250,000
| 366,800,000
4)detze|d|s 2 FEN 129,704,000 172,004,000 -42,300,000
(1) dhgaly| 129,704,000 172,004,000 -42,300,000
7. olH|
Lt 2 ebd | 129,704,000 172,004,000 -42,300,000|2| 22| EH7| 2 A AH| 52,000,000
HHESHE WHE 6,336,000
FAESMHE HA 94| 31,000,000
HALSME MR 52 2,640,000
HUESME A SR HERE 1,980,000
A HSME ClEY AIRE 4,488,000
AL SME HT| #eld] 2,580,000
HHESME FHO|IX| RXEFE 840,000
AL SME XAX2IA|MA 7,000,000




-]
1o

2020=4

of| £(A)

2020 0f AH(B)

S¢(A-B)

EII-OH

EIE] s o
HHESMHE MAH (LT XY S) 10,000,000
Fsota| x| AAH| 3,000,000
St 7| (M| ) M 2| 120,000
St 7| (8HE) M | 20,000
HAESMHE AlMZAH]| 50,000,000
HAESME A|MIZAE|(S #HEH) (42,300,000)
| 129,704,000
ch. &l & 20
2t X FFEFE
o}, M 22tz 2t
5)2d et EHZREY 86,500,000 2,500,000 84,000,000
(1)2FeH & 86,500,000 2,500,000 84,000,000
bR
Lt 7|Eleg | 86,500,000 2,500,000 84,000,000[&2 =M SESH ESX| ALY T dht 2,500,000
QALY THOH dit 2 84,000,000
| 86,500,000
6)StNsANMEZHIREY 100,000,000 100,000,000
(1)etnsAMES 100,000,000 100,000,000
Jh Eus|ANMES 100,000,000 100,000,000 Stus|AMEZ 100,000,000
2. EXEEORRBHH I REY 3,434,404 ,618 1,323,116,000 2,111,288,618
2) FEAME EXIE 3,434,403,618 1,323,115,000 2,111,288,618
(1) EXIF =
(HEZRE 1,780,929,233 1,780,929,233|( S 41178 ) AHAALY W F 2t 7 44| 1,372,713,098
(S 373 )AHA+ALY WS 27| AH| 98,030,000
(LINCH) A HE S ALY AGetd T 54| 234,886,135
AL SME AlMLIZAH| 75,300,000
| 1,780,929,233
(I TEEXS
(4)7|H7| 7%= 1,370,204,585 1,233,388,000 136,816,585| =017 7| A 7|7 o & 5,000,000
(LINCH) Al SHE S SM ALY A H| 434,050,000
(LINCH) AlS| St E S SMALY ZHYH| 6,000,000
(LINCH AIS|HE S SMAIY DmSEtE X4 85,270,000
(BA178)DSEAM 7|A 7|7 of ¢ 139,200,000
(HAFS)SHMAIY 7|A7| 7 o) 513,000,000
(LINCH) AP SEE S AIA 7| A 7|7 ofl(o|g) 42,868,000
HAESME J|A 7|7 of g 8,000,000
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